Algebra 2

Name

Test Review-Variation/Composition/Inverse/Log-Expon. conversion

1. Which is an example of inverse variation?
A y=9%

9
@
c y——%bh
D y=2xy
2. I y varies directly as x, and y = 76 when
x = 3, what is the value of y when x = 11?7
F 11 Y= kx y= ~2x
3 ~b=k-3 y=-2(1)
@‘22 k=-2 b= -22
] -3
3. If y varies inversely as x and x = 20 when
y = 10, what is the value of x when y = 147

A 140 Xy =k X- 1Y§= 200

What type of variation is represented in the

formula V = %-m'a? % 17 — com faad
F Direct variation
G Inverse variation cowlh

{ .
@Ioint variation dl/‘-"“r)

J Combined variation
The surface area (S) of a sphere varies di-
rectly as the square of its radius (r). If k rep-
resents the constant of proportonality,
which is the formula for this relftionsh.ip?
g= krz S = k e Y

B S=k?

- 3
D Sri=k

s be_ conasdsth

B 200 20(18)=k . J0c - (ovB. What is the constant of variation if y varies
c 200 gz 200 x ~ 7 directly as x, and y = 12 when x = 4?
7 '

F 60 = kx
100 G 48
: @ 7 122 -4
4. Ohm's law states that voltage {V) varies H 12 C k=3
jointly as the resistance (R) and current (). If 3 =

k represents the constant of proportionality,

which is the formula for this relationship?
(BVv=kR V=~ KRI

G V=kk

H k= VIR

J 1=kVR

5. The number of days required to build a five-
bedroom house varies inversely as the num-
ber of construction workers working on the
house. If it takes 10 construction workers 7
days to build a house, how long will it take 5
construction workers to build a house?

A 20days d‘”:' x workus = k
14days
C Sdays T-10 =k
D 2days K="70
p&u}s + 5 =70
- 70 = .

The number of floors in a building varies in-

versely as the distance between floors. The
building has 32 floors that are 12 feet apart.

If a construction crew decides to increase the

distance between floors to 16 feet, how

many floors will be in the building?

# Floors o dhdone. = k

A 4 floors
B 8 floors 32 j2z=k = 384
C 16 floors
# Floors 6 = 354
@24ﬂoor_s # Cloors = 3?‘(/w

10. The amount of sales tax charged on an item

varies directly as the cost of the item. If the
sales tax on a $60.00 purchase is $2.70, what
will be the sales tax on a $280.00 purchase?

(F)s1260 duy =k prce

G $8.10
H $7.00 2.10 = kK-G0
] $4.67 k= 2,10 . 045
——'—‘.—-
bU
dog = ,o04s (280)

¢ .
2. Go

n



Find the following composition of functions:

f(x)=2x+5

" - 12) fx)=2x+7 13)f(x)=x”+9\:
g(x)=3-4x g(x)=-5x-1 g(x)=1+2x
Find feg(1) Find fo g Find go f
qu) = 3-4(1)= —| £ 5x=1) 6()c7"+x)
2
F-1)= 2000+ = (50 1) 47 = 1+ 2(x+x)

= ~j0x —2 +7 - f'+2x2+l,jx
= [~rox +5

14)  f(x)=6-2x Determine if f and g are inverse functions and explain why or why not.
6-x  feg= £(°TX) §of = g(G-2x)
8= T2 = (- (6-2x) . 2x
= - 2_((, x) = e z

= X
2
= {—(b-x)=x Yi-“#‘u’ ANt (nuserse -ﬁmcﬁns

fog = X
15) Find the inverse of each function and determine whether or not the inverse is a function. If

. of =X
the inverse is not a function, explain why not. 9
I'\"‘”" Thverse
8 glx)=—x+5 =Ly +5 by f=2L
3 2 x= Yy-1
x-S = .-25 Y Z
‘143 JAVErsSa . .- 2 = 3”7
waﬁmd'm —-?:(X’S) =) g

£ = q= 2xt1
o) {(=5,1),(2,-8),(-3,5),(0, )} Yas, inverss CJ 6 funchm
(1,-5)  (-§2) (5,-3) () 0)5__., NeT o Panction (demacn vedur
} ] ’» 7 J # 1 N Ajs ( mw‘ﬁ(
i i i ¢ iy
16) In #15 above, which are considered one-to-one functions? atb o aftl@&wi e
(TF e vnmiairse o alos 6 funchen  fen w
are on -t - mj 7 -y

17) Inorder for f(x) and g(x) to be inverse functions, [fegl(x)=[ge f1(x) p.4



(Sqmmetry over Lois y=x)

18) Sketch the inverse of each graph onto the same coordinate plane. (Remember to use the
coordinates points of the original to help you plot the inverse!) Answer the questions.

T nverse
(Lf 2 . G2, 4)
(2, € | (68)
(,e ~ (¢,0)

#

Is the inverse a function? N ¢

«“Ts the original a 1-to-1 function? No_

.ﬂwfp Domain of f{x)_{— 99, 20)

M Range of flx) _L=2, o0
’

3 Domain of £ (x) [-2, o)
¥ Range of f1 (x) __ (=00, 00)

19) Find the inverse of y= %x+ 2. Then graph both the original equation and it’s inverse on

E-—:".
(-4,0)
©,2)
5,3)

Is the inverse a function? Y €3
Is the original a 1 to-1 function? 448

Domain of f(x) —H oo co )
Range of fix) _L Q, 00 )

Domain of f (x) £ 0, 00)
L4 eo)

Range of ! (x)

T nverst
(0,~4)
(2,0)

(3,5)

Tnuerss i
the graph below: k= Zyrz
(x -2 = "2"_ y ) z

2x -4 = Y

(Symmetry omer lerae 7-—x)
20) What is the inverse equation of the exponential function: y=4"? o nud
Convert eac tion from exponential to log form or vice versa: o a

~——

21) y=10° W= =512 23) 8=4"7

24) log, x=

25) 7=log, 49

T 26) log,,,; 569 = 4






